A Modern State: Who Has the Power in 1890?
A state which can organize its political and economic resources on a national scale would be considered a modern state.  
3 countries at this time were able to do this, they included USA, Britain, and Germany.  A fourth, Japan, was catching up to these 3.   
These 3 countries’ wealth was based on manufactured goods and commerce and the exchange of these goods.  These states also had state-run education and vigorous populations with a strong sense of pride.  
Countries with an agricultural base (France, Russia, China) were unable to make use of technology and labour-saving devices.  Keep this in  mind when we look more closely at Russia’s involvement in WW1, their lack of technology has a profound impact on their fate in the war and their nation’s future.

Britain was one of the leading producers of steel at this time, but Germany and USA narrowed this gap very quickly as they were able to use the latest technology while Britain took longer to switch to the latest techniques.  By 1890, the leading steel producers were USA 6 mill. tonnes (annually) Britain 3.9 million and Germany 2.8 million. By comparison France had only 0.8 while Russia had 0.6 million tones.  Key ingredients necessary for steel were Iron Ore and Coal.  Keep in mind this is the industrial age so Industrialized nations were the most powerful, also the world is on the brink of WW1, one of the first industrial wars ever fought.
